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2019 (S) sl

SSC PART-l (9th CLASS)
CHEMISTRY (NEW SCHEME) (&) gt
TIME ALLOWED: 145 Hours SUBJECTIVE b 145 =
MAXIMUM MARKS: 48 48 = Af

NOTE: Write same question number -4.Z/J;uﬁz./,Jlr'.@?£ C/J:/‘;ZJ:V’JF:*’UH/QK&!:’ s
and its part number on answer book, as given in the question paper.

SECTION-l Jil.o

2. Attempt any five parts. 10=2x5 é/fuLiﬂ:li!Ctadf 224 )y
() Wite any two applications of Nuclear Chemistry. uuwr”a.éfid//‘f-a (i
(i)  Define Atomic number and Molecular mass. SR ()
(i)  Differentiate between homoatomic molecule and -Z:u;uw&d ok El;/»idratJ bl (i)
heteroatomic molecule.
(v)  Whatis "Plum pudding” theory? PRV SN 1) (iv)
(v)  Wite down the electronic configuration(subshell) of AZ . 4U (Jf..,v')u’ 2 85 /ﬂi AL (V)
(vi)  Give the trends of shielding effect in a period and in a group. Y u’uté’ KBNS Jbg,& (vi)
(viiy  Write down the names of elements of first Period with their symbols. A@Lk’zw tL rf.t badl  (vi)
(viii)  Write down the atomic radii (pm) of Li and Be . qu (pm) uﬂi;J vl Be s Li (vm)
3. Attempt any five parts. 10=2x5 -ézfuwéiiféuz.df ..3/dlr
()  Define Duplet rule. f s 0
(i)  Define Covalent bond and give an example. -J:dt‘mU/Jf’JxLJ:f (i)
(i)  Whatis Dative:Covalent Bond? Show it with one example. WbeJiflet Sehakidks (i)
(i)  Inwhich form Sulphur existsat:100° G:? f wuwdw’k/ 100°C (i)
(v)  Why are the'densities of gases lower than that of liquids? 1 dﬂu:[v ﬂ’ f"':(f /-f JJ...«M (V)
(vi)  What do you mean by "Like dissolves Like"? -Jf..,}wc..u:‘@‘ ¢ "Like dissolves Like" :;._,bek%ri (vi)
Explain with examples.
(vii)  Why does the suspension not form a homogeneous mixture? SAW ALY /( T (vil)
(viii)  Define Tyndall effect, Sl (i
4. Attempt any five parts. 10=2x5 c:.(//’quf‘.".!ﬂZ:L‘:.,df ..4/‘Uir'
()  Define Reduction with an example. -Z»’vf.dﬁmf o ﬂ&;&; (i)
(i)  Whatis Oxidation number? Give an example. bl S AT ()
(i) Write down the names of two types of Electrochemical cells. é,-.(//’rt umd’)’ Ji"( /ﬂl (iify
(iv)  Define non-electrolytes and give an example. _Z;Jtﬁuﬁm s /’Ju"ujfalut (iv)
(v)  Write down the names of two soft metals. vy frbﬁ (V)
(vi)  Write down any two physical properties of Calcium. By S GJ;JU' G!r (vi)
(vii) What are any two uses of Magnesium? ‘i’u‘ﬁfuﬂwfﬂédﬁip«s& {vii)
(viiy Complete and balance the following chemical equations: éuﬂmld‘ffu?hvduf J;Z,» (viii)
@) Na+ H,—> (i) Na+Cl, —>
SECTION-II (122
NOTE: Attempt any two questions.  18=9x2 -éf/ fuLb’L Uim.:.df &S
5.(A) Wite down the five properties of Canal rays. 5 -u/gjuw“’éuf el (N5
(B) Define lon. Write its two types with examples. 4 LR e Omb LSBT (L)
6.(A) Define lonic Bond. Explain it with one example. 5 -u/a.dt‘».f JL#JL}/JI I /J,cu.f‘f (-6
(B) Whatis Boyle's Law. Explain it with experimental verification. 4 -J/Jpﬂdb /Ju’f s*;.u’u,m S (&)
7.(A) Define Redox reaction. 5 A a1 J,;J‘b@s/dlf - A m (-7
Also give comparison of electrolytic cell and galvanic cell.
(B) Define Solubility. 4 E et OL Il L S A ()

Write down three different possibilities under the general principle of solubility.-
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PAPER CODE 2019 (S) A
SSC PART-l (9th CLASS)

NUMBER: 1481

CHEMISTRY (NEW SCHEME) (£ 2) ¢t
TIME ALLOWED: 15 Minutes OBJECTIVE U"J/’J w15 =
MAXIMUM MARKS: 12 12 = /'U{

S B\ /:U:?bp&&*éylﬁw)x;.u: u,}l:ﬁé.:&bﬁdlrﬁ{(éb’db? -U!éé) D . CB:A -‘bUﬂ-"ELﬂ'LJ'J’ﬁ -t
EIR 1LV _b‘i.g,l,:ﬁ/-‘éfwar;fa_.&.é ):J:fl: _{xjﬁﬂkglﬁuﬂpﬁalfJL& Jok L LS Usmlicnkl s
Note: you have four choices for each objective type question as A, B, C and D. The choice ..u:/f:d'ﬂ:f.zfﬂfr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) The empirical formula of Glucose is; ~< bl uﬁlgjff (1)
(A) Hy0 (B) CH,0 (C) CH (D) CgHy20g

(2) Which one of the following shells consists of three subshells: \ L S e AL (2)
(A) £ O shell (B) £ N shell (C) JZ Lshel (D) F Mshell

(3) Second group elements of periodic table are called: wL,L?i.,JJr‘f u"xklf...‘_,af;. /»JZ J"‘_J/ﬂ. Ve (3)
(A) Alkali metals qu (B) Alkaline earth metals WA ]
(C) Noble gases 22t (D) Carbon family (¥

(4) Number of elements in sixth period of Periodic Table are: ' -q._;u.;[f J""‘J‘Iui’& /5.2:.591:{,@9 ¥ (4)
(A) 8 (B) 18 ) B (D) 23 _

(5) A good example of lonic. compound is: _.;_JL“)u‘fiJj:iv T (5)
(A) HySO, (B) CH, (C) CO, (D) NaCl

(8) Transfer of electrons between atoms results in: -(‘_'i;%c_uﬁ:; J ;;I/J‘gluynz: PPl (6)
(A) lonic Bonding ExL E¥T (B) Metallic Bonding £ %2
(C) Covalent Bonding £ 4.2skss (D) Coordinate Covalent Bonding Kokl T

(7) How many times are the liquids denser than gases? ?q_!ei..ndztdbf E'f:..' I = (7)
(A) 100 (B) 1000 (C) 10000 (D) 100000

(8) Which one of the following is not a colloid? e S e i3l (8)
(A) Starch Gl (B) Soap solution ¢+ ¥uile  (C)Blood ¢# (D) Milk of Magnesia pf@_sf_ﬂ

(9) Mist is an example of a solution: : --f-d‘f"L(cf!L’ e (9)
(A) Liquid in gas Situ? (B) Gas in liquid U2UtEL (C) Solid in gas u#AU? (D) Gas in solid s

(10) Oxidation number of "N" in HNOB is: —%-f.}wg“%"/w "N HNO3 (10)
(A) +2 (B) +3 (C) +4 (D) +5

{(11) Which one of the following is a non-electrolyte? ‘.’g_._‘f’Us}.aluwuf.:,{ﬂJﬁjfw (11)
(A) Sugar solution /& (B) Sulphuric Acid solution /#4210
(C) Lime solution u?)"r’fu (D) Sodium Chloride solution cﬁl’i’bﬁé}r

(12) Which metal burn with brick red flame in air? ?%Gjeivéﬁcﬂdkuﬂﬁﬂwf (12)
(A) Calcium (" (B) Sodium (&3 (C) Barium [z (D) Potassium (fcg
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PAPER CODE 2019 (S) s
SSC PART-l (9th CLASS)

NUMBER: 1483

CHEMISTRY (NEW SCHEME) (£ ) g~
TIME ALLOWED: 15 Minutes OBJECTIVE (/s s 15 =
MAXIMUM MARKS: 12 Bl = /‘/L,K

S | AL Nrerne S e Dy Q632 - Er D 4 C B A A2l S
YEIRI V) _(ngpg,ﬂ?/:}éfgﬁaﬂ!i_):h; :{J:J’Lr -b’mﬂw\.ﬁmw&gﬂaxﬂﬁ.& Jok | LS Usmslie ki LS5
Note: you have four choices for each objective type question as A, B, C and D. The choice ,q),':d'}ﬂg..-;mr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) Oxidation number of "N" in HNO is: - AARLTTE N HNO, )
(A) +2 (B) +3 (C) +4 (D) +5

(2) Which one of the following is a non-electrolyte? . ?fl-‘-‘-fUijg bl Ut 58 (2)
(A) Sugar solution /% (B) Sulphuric Acid solution ¢/#idi_fs |
(C) Lime solution cﬁl’ﬂ (D) Sodium Chloride solution u&}‘l’b)’/éjr

(3) Which metal burn with brick red flame in air? e BALEAG Sl ()
(A) Calcium f-%r (B) Sodium (€3 (C)Barium (% (D) Potassium (f by

(4) The empirical formula of Glucosesis: o il g F (4)
(A) H,0 (B) CH30 (C)CH (D) BiH Ik

(5) Which one of the following shells.consists of three subshells: ?@L,vr)?gu)fu: J&.u;@.ﬁd»sa» (5)
(A) £ O shell (B) J£ N shell (C) £ L shell (D) J& M shell

(6) Second group elements of periodic table are called: wugz_ﬂrfﬁi?:fz_ﬂ /»Ld‘iﬂg & (6)
(A) Alkali metals A& (B) Alkaline earth metals (& bs(&ieAKl |
(C) Noble gases u:’{ﬁ (D) Carbon family g}gw;b”

(7) Number of elements in sixth period of Periodic Table are: _q_:u;’g; u’“'%lu:éﬁ&;zid-’{ﬁm (7)
(A) 8 (B) 18 (C) 32 (D) 23

(8) A good example of lonic compound is: ,ﬁ,dﬁ»ﬁfﬁji LEFT (8)
(A) H,S0, (B) CH, (C) CO, (D) NaCl

(9) Transfer of electrons between atoms results in: _g.l?sc.dﬂ U ;?f}gfu,lfmﬁ P (9)
(A) lonic Bonding £l by T (B) Metallic Bonding £ 4
(C) Covalent Bonding £t wskss (D) Coordinate Covalent Bonding &4t wska(es5, 7

(10) How many times are the liquids denser than gases? bt e 26 (10)
(A) 100 (B) 1000 (C) 10000 (D) 100000

(11) Which one of the following is not a colloid? ?q_uf S0 e Jite (1)
(A) Starch &l (B) Soap solution J}‘Kw:u (C) Blood # (D) Milk of Magnesia “Lzy’é‘._s?’.ﬁ

(12) Mistis an example of a solution: e JeSb L (12)

(A) Liquid in gas Zuuto? (B) Gasinliquid U2l (C) Solid in gas u#Utu? (D) Gas in solid U2t
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PAPER CODE 2019 (S) e
SSC PART-l (9th CLASS)

NUMBER: 1485

CHEMISTRY (NEW SCHEME) ( ,f.‘ £) G~
TIME ALLOWED: 15 Minutes OBJECTIVE % w15 = &y
MAXIMUM MARKS: 12 12= Af

Heihi | SAB 3L Npzne fp L e el vy Q602 - LD 1 C B oA N2l ldry )
{,g_‘,gbqj! _ﬁ-‘fpbﬁf{ (;f(;t:d!‘d,d_.&‘é ):):fb _(mr‘.].ﬁﬂu.:.dﬁuﬁufaﬂ'{;i_& Jo¥ b L)qu;}ljuyc.ﬁg B
Note: you have four choices for each objective type question as A, B, C and D. The choice -u,),’;(f?}.wmr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 -1 A

(1) How many times are the liquids denser than gases? ?ugé'_ﬁdmw@:a/‘ff =l (1)
(A) 100 (B) 1000 (C) 10000 (D) 100000

(2) Which one of the following is not a colloid? ?%:.in’ufi/uf;_ L (2)
(A) Starch Gl (B) Soap solution J“}’Kcﬂi.a (C) Blood ¢# (D) Milk of Magnesia _lifé‘._if_ﬁ

(3) Mistis an example‘ of a solution; _|¢J@JJJ"‘4»=: (3)
(A) Liquid in gas ZLtu? (B) Gas in liquid JurCl (C) Solid in gas Ui (D) Gas in solid 2ot

(4) Oxidation number of "N" in HNO is: _g./f.u?-j_,ff'b’ "N 2 HNO, (4)
(A) +2 (B) 43 (C) +4 (D). +5

(5) Which one of the following is.anon-electrolyte? ?.;__%U:}?futbvfc.uid ETOm) (5)
(A) Sugar solution /4 (BYiSulphuric Acid solution |2l s+
(C) Lime solution ¢/ (D) Sodium Chloride solution ¢/ %153

(6) Which metal burn with brick red flame in air? e FALES G smbsd )

- (A) Calcium r_i\"; (B) Sodium r-fﬁr (C) Barium (4 (D) Potassium (ﬁ‘;_{

(7) The empirical formula of Glucose is: -grﬁumsﬂ;{lb’}ﬁ (7
(A) H,0 (B) CH,0 (C) CH (D) CgHy20g

(8) Which one of the following shells consists of three subshells: stk S S e LSl (8)
(A) £ O shell (B) J N shell ©) £ Lshel (D) £ M shell

(9) Second group elements of periodic table are called: =Lt g Lf:’é‘]éi—.‘,-’}/;—/”&&;()‘éf’ 9
(A) Alkali metals A& (B) Alkaline earth metals (£ las(¥: JcAK)
(C) Noble gases ;_z.":{ﬁif (D) Carbon family J‘Ec,r;b/

(10) Number of elements in sixth period of Periodic Table are: _§_)fﬁd/uwibﬂéﬁi;£ﬁ_ﬁgg (10)
(A) 8 (B) 18 (C) 32 (D) 23

(11) A good example of lonic compound is: -QL-LJT*L{'JME(JET (11)
(A) H,S0, (B) CHy (©) CO, (D) NaCl

(12) Transfer of electrons between atoms results in: b E Lol A (12)
(A) lonic Bonding <f 4l EyT (B) Metallic Bonding 4|
(C) Covalent Bonding £t ks (D) Coordinate Covalent Bonding flwcke/es i,
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PAPER CODE 2019 (S) s
SSC PART-l (9th CLASS)

NUMBER: 1487

CHEMISTRY (NEW SCHEME) ( (f £) 4~
TIME ALLOWED: 15 Minutes OBJECTIVE u_‘az.ﬁ e 15 = =Dy
MAXIMUM MARKS: 12 12= A

e | SAAI I QL N oona o s L g Q6017 <L &3 D 41 C B A ARl l iy -2d
EIRLY ..fi.lg&:uif/.‘.ﬁfgfauﬂ!i_ﬁi JEJ:.?I: _fmra&lh._.b’.uﬁgﬂcwf(ﬂ_ﬁ Sok L d'_/.éy(u:.'/'bupc_ug e
Note: you have four choices for each objective type question as A, B, C and D. The choice ..J’f;wj;u&ﬂif
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) Number of elements in sixth period of Periodic Table are: _é:ﬁﬁJg’V}fu‘f& cié;éid"’:.figﬁ (1
(A) 8 (B) 18 (C) 32 (D) 23

(2) A good example of lonic compound is: , «-d—JL’UK 'u( ET (2)
(A) H,S0, (B) CH, (C) CO, (D) NaCl

(3) Transfer of electrons between atoms results in: wc:_ﬂiég;f; 1 2 el A (3)
(A) lonic Bonding —fklf¥T (B) Metallic Bonding £k L4
(C) Covalent Bonding £t} wsksy (D) Coordinate Covalent Bonding Kok 3

(4) How many times are the liquids denser thangases? T@Lyzp‘:&ét‘fﬁa /-:f =l (4)
(A) 100 (B) 1000 (C) 10000 (D) 100000

(5) Which one of the following is hot a.¢olloid? te S =t S 5Es (5)
(A) Starch &= (B) Soap éolution Kl (C) Blood /¥ (D} Milk of Magnesia _l}.:f:‘._STJ

(6) Mist is an example of a solution: -;.J@JJ)’._G@J (6)
(A) Liquid in gas Situ? (B) Gas inliquid U¥2EL (C) Solid in gas Ut (D) Gas in solid (2t

(7) Oxidation number of "N" in HNO3 is: _q./ﬁﬁjr'ﬂl’f N HN03 (7)
(A) +2 (B) +3 (C) +4 (D) +5

(8) Which one of the following is a non-electrolyte? te i Hgtbudletiditn (8)
(A) Sugar solution ¢f#+-/% (B) Sulphuric Acid solution /42l s>
(C) Lime solution J#ﬁﬂ (D) Sodium Chloride solution /%15 3»-

(9) Which metal burn with brick red flame in air? te ﬁjvéﬁd’néfutm&‘w! (9
A) Calcium <5 (B) Sodium (i (C) Barium £z (D) Potassium =ty |

(10) The empirical formula of Glucose is: _cl,mu,«yeﬂ,;;‘ 15’),#;‘5’ (10)
(A) H,0 (B) CH,0 (C) CH (D) CgHq206

(11) Which one of the following shells consists of three subshells: ?uj.f_n}?.,/gfufd;c.ufc.ﬁpfjau (11)
A) S O shell (B) £ N shell (€) £ Lshell (D) £ M shell

(12) Second group elements of periodic table are called: i u‘r/ck'«i:gdfi-/ﬂéf Lﬁ&/& (12)
(A) Alkali metals -~ uﬁl (B) Alkaline earth metals ‘,L: lmdi}ufml
(C) Noble gases u;"-f'f}:" (D) Carbon family UL‘;";):/K
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